



equipment | sales | service
P.O. Box 398
Lewis Center, OH 43035
740-548-7033 - office
740-548-7044 - fax

Proposal

Proposal Number
34545

Proposal Date
1/5/2026

www.design2wellness.com

Bill To:

Lexington Senior Center
195 Life Lane
Lexington KY 40502

Ship To:

New Location
Shilito Park Rd
Lexington KY 40503

Product #	Product Description	Qty	MSRP	Unit Price	Total
9-9291-8TRX-1...	CARDIO: Star Trac 8 Series TRX Treadmill w/ LED- Black 20amp isolated dedicated circuit with 5-20NEMA receptacle required per treadmill	5		6,325.00	31,625.00
9-6140-8CT-LC...	Star Trac 8 Series Cross Trainer w/ LED Display, Black	3		5,160.00	15,480.00
9-8150-8RB-LC...	Self Generating: No Power Requirements Needed StarTrac 8 Series Recumbent Bike w/LED Display, Black	3		3,535.00	10,605.00
	Self Generating: No Power Requirements Needed				
Core H & F	Star Trac PVS SCREEN, 8/10 SERIES TREADMILL: 700-0568-60	5		1,235.00	6,175.00
Core H & F	Star Trac PVS SCREEN, 8 SERIES BIKES & ELLIPTICALS: 700-0571-60	3		1,235.00	3,705.00
Core H & F	Throwdown HIIT ROWER: 9-4850-KINTP0	1		1,245.00	1,245.00
45000	Nustep T4R Cross Trainer	5		4,595.00	22,975.00
UBCP-WF	Self Generating: No Power Requirements Needed Matrix Upper Body Cycle w/UBCPWF Console (Unit requires 110v power)	1		3,895.00	3,895.00
VLT	Marpo VLT Compact Rope Trainer	2		3,995.00	7,990.00
	STRENGTH:				
9NA-S1305-60...	Nautilus Impact Seated Leg Press w/Lock N Load Weight Stack Technology, Black	1		5,090.00	5,090.00
9NA-S1313-60...	Nautilus Impact Seated Leg Curl w/Lock N Load Weight Stack Technology, Black	1		4,295.00	4,295.00
9NA-S3303-60...	Nautilus Impact Fixed Lat Pull Down w/Lock N Load Weight Stack Technology, Black	1		3,495.00	3,495.00
9NA-S3301-60...	Nautilus Impact Vertical Row w/Lock N Load Weight Stack Technology, Black	1		3,425.00	3,425.00
9NA-S4301-60...	Nautilus Impact Vertical Chest Press w/Lock N Load Weight Stack Technology, Black	1		3,680.00	3,680.00
9NP-D9302-60...	Nautilus Inspiration Dual Adjustable Pulley	2		4,935.00	9,870.00

Chris Bingman
chris@design2wellness.com
mobile: 859-312-9063

Total

Sales Representative

Customer Signature and Date

Terms:

Net 30

Please accept this signed quotation as a purchase order and acceptance of the price, terms and conditions below:

Standard terms are 50% deposit and balance due upon delivery or approved purchase orders.

All quotes are valid for 30 days from date of issue.

Restocking fees, storage fees or other penalties may be charged for cancellations, delays or returns.

For complete terms & conditions please visit design2wellness.com.

Proposal Expires On

2/4/2026



equipment | sales | service
 P.O. Box 398
 Lewis Center, OH 43035
 740-548-7033 - office
 740-548-7044 - fax

Proposal

Proposal Number
34545

Proposal Date
1/5/2026

www.design2wellness.com

Bill To:

Lexington Senior Center
 195 Life Lane
 Lexington KY 40502

Ship To:

New Location
 Shilito Park Rd
 Lexington KY 40503

Product #	Product Description	Qty	MSRP	Unit Price	Total
9NP-B7506-60...	Nautilus Inspiration Multi Adjustable Bench, Black	4		1,065.00	4,260.00
91120	ACCESSORIES: Fitness Center Power Systems Original Health Club Step - Black/Gray	2		110.00	220.00
857KBV-5	TKO 5lb. Vinyl Dipped Kettlebell	2		8.50	17.00
857KBV-10	TKO 10lb. Vinyl Dipped Kettlebell	2		16.90	33.80
857KBV-15	TKO 15lb. Vinyl Dipped Kettlebell	2		25.35	50.70
857KBV-20	TKO 20lb. Vinyl Dipped Kettlebell	2		33.85	67.70
857KBV-25	TKO 25lb. Vinyl Dipped Kettlebell	2		42.30	84.60
859KR	TKO 2-tier Kettlebell Rack	1		365.00	365.00
509CMB-4	TKO Med Ball, 4 lb	1		21.90	21.90
509CMB-6	TKO Med Ball, 6 lb	1		26.35	26.35
509CMB-8	TKO Med Ball, 8 lb	1		31.95	31.95
509CMB-10	TKO Med Ball, 10lb	1		37.50	37.50
509CMB-12	TKO Med Ball, 12lb	1		43.20	43.20
849MB-10	TKO, Commercial 10 Medicine Ball Rack Will hold the Med Balls above and the Slam Balls below	1		155.00	155.00
2806-06	Perform Better Original Body Bars, 6lb	1		59.95	59.95
perform Better	Perform Better Original Body Bars, 12lb: 2806-12	1		86.95	86.95
perform Better	Perform Better Original Body Bars, 15: 2806-15	1		96.95	96.95
perform Better	Perform Better Original Body Bars, 18lb: 2806-18	1		109.95	109.95
perform Better	Perform Better Original Body Bars, 24lb: 2806-24	1		142.95	142.95
perform Better	Perform Better Original Body Bars, 30lb: 2806-30	1		182.95	182.95
91242	Power Systems Aerobic Bar Vertical Storage Rack Holds 24 Bars	1		185.00	185.00
816TXU-40	TKO 40lb. Urethane Hex DB	2		90.00	180.00
816TXU-35	TKO 35lb. Urethane Hex DB	2		78.75	157.50
816TXU-30	TKO 30lb. Urethane Hex DB	2		67.50	135.00
816TXU-25	TKO 25lb Urethane Hex DB	2		56.25	112.50
816TXU-20	TKO 20lb. Urethane Hex DB	4		45.00	180.00
816TXU-15	TKO 15lb. Urethane Hex DB	4		33.75	135.00
816TXU-12.5	TKO 12.5lb. Urethane Hex DB	4		28.20	112.80
816TXU-10	TKO 10lb. Urethane Hex DB	4		22.50	90.00
816TXU-7.5	TKO 7.5lb. Urethane Hex DB	4		16.90	67.60
816TXU-5	TKO 5lb Urethane Hex DB	4		11.25	45.00
TKO	TKO 2.5lb Gummibell Urethane DB: 179GB-2.5	4		39.40	157.60
6235	TKO 3-Tier, 10 Pair Dumbbell Rack, Black	2		295.00	590.00

Chris Bingman
chris@design2wellness.com
mobile: 859-312-9063

Total

Sales Representative

Customer Signature and Date

Terms:

Net 30

Please accept this signed quotation as a purchase order and acceptance of the price, terms and conditions below:

Standard terms are 50% deposit and balance due upon delivery or approved purchase orders.

All quotes are valid for 30 days from date of issue.

Restocking fees, storage fees or other penalties may be charged for cancellations, delays or returns.

For complete terms & conditions please visit design2wellness.com.

Proposal Expires On

2/4/2026



equipment I sales I service
 P.O. Box 398
 Lewis Center, OH 43035
 740-548-7033 - office
 740-548-7044 - fax

Proposal

Proposal Number
34545

Proposal Date
1/5/2026

www.design2wellness.com

Bill To:
 Lexington Senior Center
 195 Life Lane
 Lexington KY 40502

Ship To:
 New Location
 Shilito Park Rd
 Lexington KY 40503

Product #	Product Description	Qty	MSRP	Unit Price	Total
72-10850-P	Bosu Pro Balance Trainer - Blue	2		159.00	318.00
122FBP-GR-55	TKO 55 cm. Fitness Ball, Grey	1		16.95	16.95
122FBP-RD-65	TKO 65 cm. Fitness Ball, Red,	1		18.75	18.75
122FBP-BK	TKO 75 cm. Fitness Ball, Black,	1		20.75	20.75
509SBT-8	TKO Tyre Slam Ball, 8lbs	1		20.70	20.70
509SBT-12	TKO Tyre Slam Ball, 12lbs	1		24.50	24.50
509SBT-15	TKO Tyre Slam Ball, 15lbs	1		26.95	26.95
ACCESSORIES: Group Fitness					
VD-001	Troy, vinyl coated dumbbell, 1 lb	30		1.60	48.00
VD-002	Troy vinyl coated dumbbell, 2 lb	24		3.25	78.00
VD-003	Troy vinyl coated dumbbell, 3 lb.	30		4.85	145.50
VD-004	Troy vinyl coated dumbbell, 4 lb.	30		6.45	193.50
VD-005	Troy vinyl coated dumbbell, 5 lb.	40		8.05	322.00
VD-006	Troy vinyl coated dumbbell, 6 lb.	40		9.65	386.00
VD-007	Troy vinyl coated dumbbell, 7 lb.	32		11.25	360.00
VD-008	Troy vinyl coated barbell, 8 lb.	30		12.85	385.50
VD-010	Troy vinyl coated dumbbell, 10 lb	20		16.05	321.00
VD-012	Troy vinyl coated dumbbell, 12 lb	8		19.25	154.00
VD-015	Troy vinyl coated dumbbell, 15 lb	8		24.10	192.80
91120	Power Systems Original Health Club Step - Black/Gray	30		110.00	3,300.00
perform Better	Perform Better Gliding Disc - Single Pair (Hardwood): 1457-02	10		14.95	149.50
perform Better	Perform Better Gliding Disc Club Pack - 25 Pairs (Hardwood): 1457-04	2		229.95	459.90
122FBP-BK	TKO 75 cm. Fitness Ball, Black	8		20.75	166.00
122FBP-RD-65	TKO 65 cm. Fitness Ball, Red	17		18.75	318.75
122FBP-GR-55	TKO 55 cm. Fitness Ball, Grey	6		16.95	101.70
perform Better	Perform Better Bender Ball: 1018-01	50		14.95	747.50
perform Better	Perform Better Softmed Ball 2.2lb: 3215-02	20		15.95	319.00
perform Better	Perform Better Softmed Ball 3.3lb: 3215-03	25		17.95	448.75
perform Better	Perform Better Softmed Ball 4.4lb: 3215-04	10		19.95	199.50
833CPAC2	TKO Cardio Pump Group Pack 10 Sets Plus	3		1,750.00	5,250.00
256BR-1.5-30	TKO Battle Rope 1.5'-30 Feet Long, Nylon Coated	2		95.00	190.00
501DON-12	TKO Pro Club Training Gloves 12 oz	10		37.50	375.00
501DON-16	TKO Pro Club Training Gloves 16 oz	6		40.00	240.00

Chris Bingman
chris@design2wellness.com
mobile: 859-312-9063

Total

Sales Representative

Customer Signature and Date

Terms:

Net 30

Please accept this signed quotation as a purchase order and acceptance of the price, terms and conditions below:

Standard terms are 50% deposit and balance due upon delivery or approved purchase orders.

All quotes are valid for 30 days from date of issue.

Restocking fees, storage fees or other penalties may be charged for cancellations, delays or returns.

For complete terms & conditions please visit design2wellness.com.

Proposal Expires On

2/4/2026



equipment | sales | service
P.O. Box 398
Lewis Center, OH 43035
740-548-7033 - office
740-548-7044 - fax

Proposal

Proposal Number	Proposal Date
34545	1/5/2026

www.design2wellness.com

Bill To:

Lexington Senior Center
195 Life Lane
Lexington KY 40502

Ship To:

New Location
Shilito Park Rd
Lexington KY 40503

Chris Bingman
chris@design2wellness.com
mobile: 859-312-9063

Total \$175,576.45

Sales Representative

Customer Signature and Date

Terms:

Please accept this signed quotation as a purchase order and acceptance of the price, terms and conditions below:

Standard terms are 50% deposit and balance due upon delivery or approved purchase orders.

All quotes are valid for 30 days from date of issue.

Restocking fees, storage fees or other penalties may be charged for cancellations, delays or returns.

For complete terms & conditions please visit design2wellness.com.

Proposal Expires On

2/4/2026